
Offline QA



Outline
• I am working for offline QA 
• I made the reference plot of cluster size distribution
• The reference plot was made from gauss fitting.

•My progress :
1. Select only Physics data
• Offline QA seems to show only physics run plot

2. Make 2 type plots  ( DAC0 = 30 or 35 )
3. Modify plots( error bar / style / fitting range )

Followed by comments, thank you!!



How to select physics Run
In SQL database

You can get text file of database in your directory using this code

-d : select database,     -o : text file name,    -c : select data   



Offline QA seems to show only physics run plot

/sphenix/data/data02/sphnxpro/clusterhist/run_48000_48100

Offline QA plot file (run48000~48100) SQL database(only physics run)
select runnumber from run WHERE runtype = 'physics' AND 
runnumber BETWEEN 48000 AND 48100 order by runnumber ASC



How to select by DAC0 value
phnxrc@intt0:/logdisk/phnxrc/INTT/top_pedestal$ grep -e DAC0 -e EDT top_pedestal_2024_07_*_intt1.log | grep -v DAC4

This time is when we changed 
DAC0 value from 30 to 35

Genki taught me how to get information, thank you very much!



How to select by DAC0 value
This time is when we changed DAC0 value from 30 to 35

In SQL database
I checked run number from datetime

We changed DAC0 value from 30 to 35 
from run49753

psql -d daq -o physics_run.txt -c "SELECT runnumber FROM run WHERE runtype = 'physics' AND runnumber
BETWEEN 49753 AND 51700"

Make text file by database



Cluster size ( DAC0=30 )

Y ：Fraction=(Entries/ all Entries)
X ：cluster size

Linear Log
Run46400~48400 ‒ total 4817320 files

DAC0 = 30
Only Physics Run



Fitting size by size

size1 size2



size3 size4

Fitting size by size



size5 size6

Fitting size by size



Reference plot (DAC0=30)

Y ：Fraction=(Entries/ all Entries)   error Y = 3σ 
X ：cluster size

Linear Log

DAC0 = 30
Only Physics Run



Cluster size (DAC0=35)

Y ：Fraction=(Entries/ all Entries)
X ：cluster size

Linear Log
Run46400~48400 ‒ total 4817320 files

DAC0 = 35
Only Physics Run



Fitting size by size

size1 size2



size3 size4

Fitting size by size



size5 size6

Fitting size by size



Reference plot (DAC0=35)

Y ：Fraction=(Entries/ all Entries)
X ：cluster size

Linear Log

DAC0 = 35
Only Physics Run

error Y = 3σ 



Y ：Fraction=(Entries/ all Entries)
X ：cluster size

Compare between DAC0=30 and 35

• The plot shows different distribution
between DAC0 = 30 and 35  

It is necessary to change the reference plot 
to be added depending on the DAC0 value.



Summary
• I modified the reference plot
• Cluster distribution is different between DAC0=30 and 35
• Need to change the reference plot depending on the DAC0 value.
• I think modifying plot is done, so I will go to the next step

• Adding the reference plot to offline QA website is ongoing.
• I can do it this week because of same timing of shift as Xudong

Next step


